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BKHH TE S ArcERE | 4/12 ¢ 4/19 | 5/11 £ 5/17 | 6/7 i6/21 [ 7/5 { 7/19 | 8/9 {8/23 [ 9/6 i 9/20 [10/11:10/18| 11/1 ¢ 11/15] 12/6 {12/13| 1/10 { 1/17 [ 2/14 { 2/21 | 3/7 i 3/14 . B sty 5
FKHEA FRAE Bl ey 925 9:17 | 9:28 © 9:32 [ 9:16 | 9:15 | 9:21 ¢ 9:22 | 9:20 ¢ 9:13 [ 9:20 : 9:23 | 9:1 9:21 | 9:25 ¢ 9:16 [ 9:23 © 9:15 | 9:17 | 9:18 | 9:08 ¢ 9:10 | 9:15 ¢ 9:0 X X - "

Hi% H - T = 5 = [ T H T 5 = = 5 Y 5 5 = 5 = 5 5 5 = = FY - - -

R B H - T & T Ei = T i T 5 55 & T Z 5 = T Z 58 Fi T Fi = = & - - -
% H - 5 5 5 5 [ 5 = 5 = = = = 5 = 5 = 5 [ & & & 55 [ & = = =

i [C] 16.4] 20.4: 158 145 20.5] 204 23.0] 24.8% 29.5] 29.9% 30.2] 26.0: 29.6[ 19.9: 18.7[ 18.2: 13.5[ 11.4: 10.1 6.9 4.3 7.9 7.8 5.0 7.3 30.2 4.3 17.3
7K [C] 21.4] 20.3: 207 21.2F 224 23.0: 242 25.6: 274 28.4: 28.8| 283: 282 245: 239 23.7i 21.5| 20.2: 19.6]| 18.1: 16.7] 16.9: 184 [ 153} 16.1 28.8 15.3 22.2
B [EE] >100]  >100i >100] >100f >100[ >100i >100] >100{ >100] >100f >100[ >100{ >100] >100f >100[ >100i >100] >100i >100] >100{ >100] >100i >100] >100i >100 >100 >100 >100
SL ] B T R e R e e R Ry R L e e e - -
B - - - - - - - - - - - - - - - - - - - - - - - - - - - -
pH 5~9 7.1 6.8 6.9 7.2 7.1 7.2 7.4 7.3 7.2 6.8 7.1 7.1 7.0 7.2 7.2 7.1 7.2 7.6 7.2 7.3 7.3 7.3 7.3 7.0 7.5 7.6 6.8 7.2
BOD(T—BOD)  [mg/L] 0.1 20 2.9 1.6 1.5 1.4 1.6 1.5 2.1 2.0 1.4 1.2 1.6 1.1 1.5 1.3 1.4 1.9 1.6 1.6 2.0 1.4 1.4 1.6 1.2 0.7 1.7 2.1 0.7 1.5
COD [mg/1.] 0.1 20 7.6 6.6 6.2 6.1 6.7 6.0 6.6 6.8 7.8 6.9 6.7 6.9 6.6 5.8 6.2 6.9 6.8 6.7 7.0 7.6 7.8 8.3 7.6 6.0 6.3 8.3 5.8 6.8
SS [mg/L] 0.1 70 1.0 1.7 1.4 0.7 0.4 0.4 0.7 1.2 0.9 0.4 0.7 0.2 0.4 0.2 1.2 0.9 1.1 1.5 2.9 2.4 2.6 2.2 1.5 1.0 1.2 2.9 0.2 1.2
KIBEREE [/ cm’] 1.0 [ 3,000 ND ND ND ND 1 ND ND 1 ND ND ND ND ND ND ND 1 ND 1 ND ND ND ND ND 1 ND 1 ND ND
EY [mg/L]|  0.08 4 0.18] 0.19¢ 0.24 0.31{ 0.16[ 0.13¢ 0.11[ 0.30¢ 0.16[ 0.71 0.12] 0.08% 0.08] 0.39¢ 0.54[ 0.24¢{ 0.19[ 0.15¢ 0.22[ 0.22% 0.20] 0.30 0.29] 0.16 0.37 0.71 0.08 0.24
BEEHR [mg/1.] 0.1 30 9.1 7.2 7.7 8.3 9.1 8.3 9.6 9.8% 10.6 9.6 9.2 8.7 9.9 9.1¢ 10.5[ 10.0f 10.2 9.7 9.6 8.9 72| 1027 12.0 851 10.1 12.0 7.2 9.3
TroeE=T7ESE  [mg/LI]  0.40 1.66 ND ND ND ND ND ND ND ND NDi 0.54] 0.82: 0.52 ND ND ND ND ND ND ND ND NDi 0.42 ND ND|  0.82 ND ND
AR 25 36 mg/L]]  0.05 6.3 6.2 6.6 7.5 8.3 7.5 8.5 8.9 9.6 8.5 7.6 7.0 8.5 8.2 9.6 8.9 8.7 8.8 8.7 7.7 6.2 9.3: 11.0 7.7 9.3 11.0 6.2 8.3
TAEER 2= meg/L]]  0.01 0.05 ND ND ND ND ND ND ND ND NDi 0.12] 0.11§ 0.11 ND ND[ 0.05 ND| 0.01 1 0.02 ND ND ND ND ND ND|  0.12 ND|  0.02
s an mwian  (mg/L] 0.1 100 70| 621 6.6 75: 83| 75! 85| 89i 96| 85i 79| 74} 88| 82i 96| 90i 87| 88 87| 7.7} 62| 93 11.2| 77 93 11.2 6.2 8.3
n—~H U [mg/1] 1.0 30 ND[ 1.0 ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND 1.0 ND ND
7= /—/)VH [mg/LJ]  0.03 0.5 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
&l [mg/L]]  0.01 1 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
ik [mg/L]]  0.05 2 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
VA fRPESR [mg/L]]  0.05 5] o.08] - - 0.08F - - - - - 0.08F - - - - - 0.09F - - - - - 0.09i - - - 0.09 0.08 0.09
Rt~ T [meg/L]]  0.05 5 ND| - - 0.07: - - - - - NDi - - - - - NDi - - - - - 0.05{ - - - 0.07 ND ND
ENV=TN [mg/L|  0.02 1 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
T3 [mg/1.] 0.1 10 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - — — ND ND ND
HEIT L [mg/L]| 0.001 0.01 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
BT [mg/LJ}  0.01 ND ND| - - ND! - - - - - ND! - - - - - ND! - - - - - ND! - - - ND ND ND
AV [mg/LJ]  0.01 ND ND| - - ND: - - - - - ND: - - - - - ND: - - - - - NDi - - - ND ND ND
Fin [mg/LI] 0.005 0.1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
N A=A [me/L]|  0.02 0.05] - - - - - - - - - - - - - - - - - - - - - - - - - - - -
= [mg/L]] 0.005 0.05 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
KR [me/L]| 0.0005 | 0.0005 ND| - - ND! - - - - - ND! - - - - - ND! - - - - - ND! - - - ND ND ND
TRV KER [mg/L]] 0.0005 ND| - - - - - - - - - - - - - - - - - - - - - - - - - - - -
PCB [me/LI] 0.0005 ND ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
PR SR [mg/L]]  0.01 <0.05] <0.05i <0.05] <0.05i <0.05[ <0.05: <0.05[ <0.05; <0.05] <0.05i <0.05] <0.05{ <0.05] <0.05{ <0.05[ <0.05: <0.05[ <0.05i <0.05] <0.05i <0.05] <0.05i <0.05] <0.05i <0.05] <0.05] <0.05] <0.05
KEEH = [mg/L]]  0.03 1.62] 1.59 ¢ 0.80 0.80f 0.80] 0.80F 0.80| 1.59 ¢ 0.80] 0.80f 1.59[ 2.39¢! 0.80] 0.80f 0.80[ 1.59f 0.80] 0.80F 0.80| 0.80 2.39] 0.80f 0.80[ 1.59f 4.78 4.78 0.80 1.26
Wi A4 [meg/L]]  20.0 65.3] 65.0 1 70.0 68.3 1 58.3[ 66.7: 61.7] 41.7: 66.7] 73.37 75.0] 83.3% 80.0[ 633 76.7] 95.0 83.3[ 73.3% 65.0[ 56.7: 90.0[ 1137 112] 86.01 78.0 113 41.7 75.1
Mooz FL>  [me/L]| 0.001 0.1 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
FNFyauTFlL [mg/L]] 0.001 0.1 NDl - - NDi - - - - - NDi - - — - — NDi - - — — — NDi - - - ND ND ND
DUOOAR L [mg/L]| 0.001 0.2 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
iR ArES [mg/L]] 0.0002 0.02 NDl - - NDi - - - - - NDi - - — - — NDi - - — — — NDi - - - ND ND ND
L,2-Y7uaxs [mg/L]] 0.0004 0.04 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
1,1-v7oexFLy [meg/L)| 0.001 1 NDl - - NDi - - - - - NDi - - — - — NDi - - — — — NDi - - - ND ND ND
1,2-v7opxFly  [mg/LI[ 0.002 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
s A-1,2-v7mecfly  [mg/L]] 0.001 0.4 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
Fovx-12-veexily  [me/LI] 0.001 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
1,1,1-Fymoxgy  [me/L]]  0.001 3 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
1,1,2-N7opx4y  [meg/L]] 0.0006 0.06 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
1,3-v7un7° o~ [mg/L]] 0.0002 0.02 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
F77 L [me/LI| 0.0006 0.06 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
eI [mg/L]| 0.0003 0.03 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
FAXLTNT [me/L]] 0.001 0.2 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
P [mg/L]] 0.001 0.1 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
L [mg/L]| 0.002 0.1 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
FAFTX M e tE/LBES R 1 [0.00030] - - Jo.00018 1 - - - - - - - - - - - - - - - - - - - - - 0.00018 J0.00018 J0.00018
ESES [mg/L] 0.1 230 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - — — ND ND ND
1 4-A %Y [mg/LIl 0.005 0.5 ND] - — NDi - — - — - NDi - — - — - NDi - — - - - NDi - - - ND ND ND
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K H REGE P | MUSERE | 4712 ¢ 4/19 | 5/11 § 5/17 | 6/7 ¢ 6/21 | 7/5 | 7/19 | 8/9 ¢ 8/23 | 9/6 ¢ 9/20 110/11:10/181 11/1 i 11/15] 12/6 {12/13] 1/10 ¢ 117 [ 2/14 ¢ 2/21 | 3/7 ¢ 3/14 1 oo [ gm0 | sy .
YA PRAE “| ¥ [932 925 | 945 038 | 9:22 + 9:22 | 9:28 | 9:29 | 9:27 | 0:17 | 9:20 | 9:30 | 9:23 | 9:27 | 9:35  0:26 | 9:31 ~ 9:23 | 9:26  9:27 | 9:16 | 9:19 | 9:21 ¢ 947 | * - . "

Hi% [ - i = i 3 5 i 5 i I ] 3 I3 ] i i = i L 3 i i i T = RN - - -

PN Al H - i i i I = i ] i i [} s i o= i o= i o= ] i i i = o= I3 - - -
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Rl [C] 164] 204 158 145: 20.5] 204 23.0[ 248} 295| 299} 30.2[ 26.0: 29.6 [ 199} 187| 18.2: 135| 11.4: 101]| 69! 43] 7.9: 78| 50i 73] 30.2 43] 173
K [C] 222] 2097 215 221} 22.8] 236} 24.6| 255 274 285! 28.9| 28.7} 285| 256 25.0| 24.8° 23.5] 21.4: 21.0[ 20.0: 19.0] 184} 19.2] 17.1} 17.6] 289] 17.1] 23.2
O fH 3 >100] >100i >100]  >100: >100] >100: >100] >100: >100] >100: >100] >100: >100] >100: >100] >100: >100{ >100: >100[ >100i >100] >100i >100] >100: >100] >100]  >100]  >100
S8 O e o U Ea e | B L E e U] B L e ] B L e ] B E g U] B R Eaoe U] En o G R ] Ex e ] Ea e D ] B L o 1) - -
e - - - - - - - - - - - - - - - - - - - - - - - - - - -
pH 5~9 69] 691 7.0 71: 7.0] 7ai 73] 7ai 7] 69% 72] 7.0: 68| 68% 7.U[ 71i 72| 72! 72| 74¢ 72| 727 71] 69% 7.3 7.4 6.8 7.1
BOD(T—BOD) _ [mg/L] 0.1 20 29] 25; 28 280 25| 1.7: 28] 1.0: 22[ 14 1.0] 14: 13[ 1.0: 1.2] 15; 14| 16; 18] 14: 14| 13: 13] 1.0: 1.4 2.8 1.0 1.7
COD [mg/L] 0.1 20 85| 87 8.0 73: 77| 66 75| 70: 86| 73i 76] 84: 74| 70: 7.7] 79i 80| 88: 79| 76: 78] 81: 7.7] 72: 6.9 8.8 6.6 7.7
SS [mg/1] 0.1 70 1.8] 24: 2.0 21¢ 30| 1.0¢ 1.8[ 22¢ 21[ 09 L] 13: 13[ 1.9f 16[ 12} 24| 14% 12| 16 12| 12! 14] 23: 3.0 3.0 0.9 1.7
K B REER /cm’] 1.0 | 3,000 ND 1 1 1 1 2 1 ND 1 11 ND 1 ND| NDi ND 2 ND| NDi ND 1 ND 1 ND| NDi ND 11 ND 1.0
BN [mg/L]]  0.08 4] 024] 026: 027 025 035] 0.15: 0.26| 024 0.38] 0.19: 0.21| 035 0.38] 037 0.18] 0.17: 0.18] 0.20: 0.15] 0.23: 0.14| 0.13: 0.19] 0.19: 0.36] 0.38] 0.13] 0.24
PRER [mg/L] 0.1 30 78] 55 6.6 59: 62| 7.1: 69] 50: 54 81: 53| 48: 85| 85: 93] 98F 9.1] 88i 92] 6.2: 53| 66: 84| 7.1: 96 9.8 4.8 7.2
TrE=TEEER  [(me/L]]  0.40 1.31 ND: 2.50 ND: ND[ NDi 1.46[ 0.66} 0.67 ND: ND| 1.47 ND| 1.81% 0.48 ND: ND| 2.00 ND| NDi{ ND| NDi{ ND| ND: ND| 2.50 ND|  0.46
[ AREES [me/L)]  0.05 5.4 41% 29 47 50| 6.2F 36| 40! 37] 69: 42| 30: 74| 55: 78| 88% 76| 58i 83| 50i 43] 58% 72| 6.2 8.7 8.8 2.9 5.7
AR %2 SR [me/LJ] _ 0.01 0.05] 0.03: 0.07] 0.02; 0.001] 0.01; 0.06] 0.04: 0.04] 0.02: 0.02] 0.02; 0.04] 0.11: 0.08] 0.03: 0.06] 0.14: 0.02 ND: 0.02] 0.02: 0.03 ND: ND| 0.14 ND|  0.04
i el (mg/L] 0.1] 100 6.0] 41 4.0 47: 50| 62 42| 43 40| 69: 42| 36 74| 63 81| 88: 77| 67i 83| 50i 43| 58 72| 62! 87 8.8 3.6 5.9
n— IR [meg/L] 1.0 30 ND| 1.1 ND ND: ND[ NDi ND[ NDi ND| NDi ND[ NDi ND[ NDi ND| NDi ND| NDi{ ND| ND: ND| ND: ND[ NDi ND 1.1 ND ND
7x/— )V [me/L)] 0.03] 0.5 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
i [mg/LJ]  0.01 1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
B [mg/L]]  0.05 2 ND| - - ND! - - - - - ND! - - - - - ND! - - - - - ND! - - - ND ND ND
I LARRR [mg/LJ}  0.05 5] o.14] - - 0.06F - - - - - 0.06F - - - - - 020 - - - - - 0.06F - - - 020] 0.06] 0.10
infEtt~ e [me/LIl 0.0 51 005] - - 0.06 | - - - - - ND: - - - - - 0.056 | - - - - - NDi - - - 0.05 ND ND
EA=PN [me/L]]  0.02 1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
LS [meg/1 0.1 10 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
ARV L [me/L]] 0.001 ]| 0.010 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - NDi - - - ND ND ND
BT [mg/LJ]| _ 0.01 ND ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
AV [mg/LJ] _ 0.01 ND ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
Fin [me/L]]0.005 0.1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
N7 2 2 [me/L]] 0.02] 0.05] - - - - - - - - - - - - - - - - - - - - - - - - - - - -
S [me/LJ] 0.005] 0.05 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
KR [me/L]| 0.0005 | 0.0005 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - NDi - - - ND ND ND
TV KR [me/L]] 0.0005 NDf - - - - - - - - - - - - - - - - - - - - - - - - - - - -
PCB [mg/L]] 0.0005 ND ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND! - - - ND ND ND
EatiiES [me/LJ]_ 0.01 <0.05] <0.05; <0.05] <0.05: <0.05] <0.05: <0.05] <0.05: <0.05] <0.05; <0.05] <0.05: <0.05] <0.05: <0.05] <0.05} <0.05] <0.05; <0.05] <0.05: <0.05] <0.05: <0.05] <0.05: <0.05] <0.05] <0.05] <0.05
IRRH [mg/LJ}  0.03 1.97] 3.18¢ 1.59| 0.80: 0.80] 1.59: 0.80[ 1.59} 1.59| 0.80: 1.59| 2.39: 0.80[ 1.59i 0.80| 1.59: 3.18| 1.59: 0.80]| 1.59: 1.59] 2.39: 3.18 | 3.18% 3.98] 3.98] 0.80] 1.79
A4 [me/LJ]  20.0 61.8] 56.7¢ 65.0[ 700} 56.7] 56.7} 65.0| 40.0 55.0| 70.0{ 80.0] 81.7} 70.0| 56.7} 73.3| 90.0: 783]| 73.3 ¢ 63.3]| 53.3¢ 70.0| 100} 133[ 76.0} 84.0 133]  40.0] 716
MZoerFLy [me/L]] 0.001 0.1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - NDi - - - ND ND ND
VANEEES A [mg/LJ| 0.001 0.1 ND| - - NDi - - - - - ND: - - - - - NDi - - - - - NDi - - - ND ND ND
Dranxi [mg/LJ] 0.001 0.2 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
EERI4ES [me/L]] 0.0002 | 0.02 ND| - - NDi - - - - - NDi - - - - - NDi - - - - - NDi - - - ND ND ND
L2-vrnnxyy  [wg/L]] 0.0004 | 0.04 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND! - - - ND ND ND
1,1-v7maxFly  [mg/LI| 0.001 1 ND| - - NDi - - - - - ND: - - - - - NDi - - - - - NDi - - - ND ND ND
1,2-v7ooxfly  [me/L]] 0.002 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND! - - - ND ND ND
vA-1,2-v7mecfby  [mg/L]| 0.001 0.4 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - NDi - - - ND ND ND
Fovate-ymesty  [mg/L]| 0.001 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND! - - - ND ND ND
1,1,1-M7upzyy  [me/L]| 0.001 3 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
1,1,2-M7noxyy  [me/L]] 0.0006 | 0.06 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND! - - - ND ND ND
1,3-v7un7'a~"y  [mg/L][ 0.0002 | 0.02 ND| - - ND: - - - - - ND: - - - - - NDi - - - - - NDi - - - ND ND ND
T L [mg/L]] 0.0006 | 0.06 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND! - - - ND ND ND
D [me/1.]] 0.0003] 0.03 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
FA 7 [me/L][ 0.001 0.2 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
By [me/LJ]0.001 0.1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
Tl [mg/L]] 0.002 0.1 ND| - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
BIAFX A e 1BQ/LIBIRRS I 1]0.00019] - - [0.00018; - - - - - - - - - - - - - - - - - - - - - 10.00018 ]0.00018 ]0.00018
ESES [mg /1] 0.1 230 ND| - - ND! - - - - - ND! - - - - - ND! - - - - - ND: - - - ND ND ND
La-vA%kty  [me/L]l 0.005 0.5 NDf - - ND: - - - - - ND: - - - - - ND: - - - - - ND: - - - ND ND ND
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